SRS 255

ZERS

LG4 500.24.01352.01

T YT

&7 BHHA: 2024-03-28

CCB_PCF_F_006CS 06

2023-11-09

1 of 44













REHRS: 64.500.24.01352.01

B b SR A R .
ot e ERS Rl E T,

CCB_PCF_F_006CS RRZsS 06 BIREMHHEE 2023-11-09 Tikg 5 of 44



REHRS: 64.500.24.01352.01

HR
T BEBBEIR ... 11
11 BZEBEBY oo 11
L2 et 11
1.3 BZEIEBBEETRRE ..o 12
14 BHEBER ..o 12

s T 13

2 BBEETBE ... e 19
2.l R AT e, 19
2.2

2.3 BBBER(IL e, 21
24 BRBIBIR e 21
25 HXEBERM ......ooooooeeeeee e 22
28-S 23
P G iy SRS 24

CCB_PCF_F_006CS hRZE= 06 BIREMEHER 2023-11-09 Dif5 6 of 44



3.3 BB e, 25

3.4 ettt e ettt arers 27
4 R B T A et 28
4.1

4.2
4.3

4.4

45  BOBBTEDM oo 35
5 ERETEEELHITIEREI ..o 38
B BEIIEE. ... 40
it A SEREEBIRBEAEIRIETUZR ... 41

CCB_PCF_F_006CS FRZsS 06 BIREMHHEE 2023-11-09 TG 7 of 44






L BV T Ww | y Ny~ ]

e Al it BT S TR A

11 4 EMRCAY-50-9 HRCAYZ-
50-9 HCAAY-50-12 HCAAYZ-50-12 HHTAY-50-42 HCTAY-50-32,

HCTAYZ-50-23 HCTAY-50-22 HLRWUCYZ-50-22T HLRHTCYZ-50-32T)17

1-2 BkEEF=miMNIE (et Nt a T s i 18 10M-4310M-9%2,
4310M-4310M-9*15 NM-NM-9*2 4310M-4310MA-9*5 4310M-DM-9*3,

4310M-NM-9*3 4310M-DMA-9*3 DM-DMA-9*3 NM-NM-12*3 DM-DM-

2-2 22

2-3 MR e R R 2 R B et e, 22

CCB_PCF_F_006CS RRZsS 06 BIREMHHEE 2023-11-09 TG 9 of 44









REHRS: 64.500.24.01352.01

1.3

Tov e 20244 2 B 7 [ 2023 &£ 2 B 16 B AR ERES T T HETE
ML E it B T T e e AL e D R e N B B
F AR Z T E AN KB MIHIFE R A IEAUEEW TR

(1)

2, SO .,

Pebcte=e Ly

(2) =t

CCB_PCF_F_006CS hRZE= 06 BIREMEHER 2023-11-09 TIk5 12 of 44



RERS: 64.500.24.01352.01

s = GHG_P_09ECS RES

1.5 RELMZZREF @R

BT ERRE R SRz 2004 £ 12 B, SHIEFR 70500 F75K, EHREA

40000 5127t

. R WAL ey 8 i ARV PR ATZ LS vl ) P
o St e T Mg A e X 1 LR
N i ArE S R Y ey AN 4y e T ! —.%ﬂlr'—,_.ﬁ
it . Qi T T T e i e e T

RLE T A3,

10000km ZERaTEZs it

#5. 50000km | lookm =:5445. 15000km JRittEB4E. 80000km B &R FE
seas. 13000km [

TV R e A P

FLTRA AL (1] e

I T e e A

I /03 e R et RO M

M mBIEMRERSE, UNELGEM. MAFREERERTNE,

Al L Lt A

TR A AL R LAY IR

CCB_PCF_F_006CS hkZS 06 RIREMHHER 2023-11-09 Tikg 13 of 44



REHRS: 64.500.24.01352.01

IRZRETBARESETH 10 RELS 1

CCB_PCF_F_006CS hRZsS 06 BIREMHHEE 2023-11-09 FURD 14 of 44



REHRS: 64.500.24.01352.01

® 11 FmES. BERTERER

a3l = anERdE BHElASR A~ &
HCAAY-50-12 2.26E+02 kg/km 2.03E+03 km
HCAAYZ-50-12 2.44E+02 kg/km 5.32E+04 km
HRCAYZ-50-9 1.86E+02 kg/km 1.21E+03 km
HRCAY-50-9 1.71E+02 kg/km 3.51E+03 km
Jou HCTAYZ-50-23 5.91E+02 kg/km 5.40E+00 km
e HCTAY-50-22 5.22E+02 kg/km 2.32E+02 km
HCTAY-50-32 1.11E+03 kg/km 2.50E+00 km
HHTAY-50-42 1.64E+03 kg/km 8.73E+00 km
HLRWUCYZ-50-22T 3.77E+02 kg/km 1.86E+02 km
HLRHTCYZ-50-32T 1.05E+03 kg/km 2.34E+03 km
4310M-4310M-9*2 5.00E+02 /km 9.60E-02 km
4310M-4310M-9*15 6.67E+01 /km 7.71E+01 km
NM-NM-9*2 5.00E+02 /km 3.50E+00 km
4310M-4310MA-9*5 2.00E+02 /km 3.69E+00 km
" 4310M-DM-9*3 3.33E+02 /km 7.96E+01 km
s 4310M-NM-9*3 3.33E+02  /km 4.31E+00 km
4310M-DMA-9*3 3.33E+02 /km 2.00E+00 km
DM-DMA-9*3 3.33E+02 /km 1.50E+00 km
NM-NM-12*3 3.33E+02 /km 4.22E+00 km
DM-DM-12*2 5.00E+02 /km 1.20E-02 km

CCB_PCF_F_006CS

hRZE= 06

BIREMHHEE 2023-11-09

DiR5 15 of 44







1-1 &&= mINIE (ELEIAETE&E~RES 958 HRCAY-50-9 HRCAYZ-

50-9 HCAAY-50-12 HCAAYZ-50-12 HHTAY-

CCB_PCF_F_006CS RRZsS 06 BIREMHHEE 2023-11-09 D5 17 of 44






2.1 BES MK

CCB_PCF_F_006CS RRZsS 06 BIREMHHEE 2023-11-09 D5 19 of 44









REHRS: 64.500.24.01352.01

2-2 ZLirrmEn ARRGLAIIERIZE

B 23 BT RE

2.5

142 150 14067:2018 RAExAnE (M GG
-

CCB_PCF_F_006CS hkZS 06 BIREMEHER 2023-11-09 TIk5 22 of 44



Sl AR

RERS: 64.500.24.01352.01

AR L chix B2 m asih R ik & 4\ g Ek16.20.00%, [

T No bR

,;"' 'E'?:,E_.J‘LH—}%‘J, A,

2.6 HEEN
T - o oo EieR BRI R T B,
K4 T T T
oK HEIER HEREYE
B \
BRI \
R I SF&
TR (s e I
- I 58
B \
75 R [EUR BN FE Cut-off 1&HY \
= 23 g2
boE S EREM VT o
B ] \ \
MR e \ \
I B2
cosorci R o
1;;.~.1;&.§%n%§ﬁﬁ.ﬁ%ﬁ.ﬁ§m§&i?...f.nnﬁ.n’.’.ﬁ
I B T EPR
(Bkk BAREK)
B B 43R \ \
% R B 7S Cut-off f&% \

CCB_PCF_F_006CS

hRZS 06

RIREMHER 2023-11-09

TG 23 of 44



REHRS: 64.500.24.01352.01

CCB_PCF_F_006CS hRZ&E= 06 BIREMEHER 202



REHRS: 64.500.24.01352.01

33 I

S #E‘S‘({¢ ﬁgg %ﬁﬁjﬁ:l%-/.—«v H- A HARA ENLAA EC 2= o — S+

B 2 470 = HCAAYZ-50-12 1), 35 3-3 LUIBKEEL S 4310M-

CCB_PCF_F_006CS hRZE= 06 BIREMEHER 2023-11-09 Tik5 25 of 44


















HLRHTCYZ-
Al-A3-Ffa
50-32T

CCB_PCF_F_006CS

Al

hRZ&E= 06

A3-#illi&

BIREMEHER 2023-11-09

3.86E+02

Tifg 31 of 44












REHRS: 64.500.24.01352.01

4.4 ABEMDT

T o301, R
7 SimaPro 9.5.0.0 FEY IPCC 2021 77 A# TR R T DIThREE . LA
S HCAAYZ-50-12 5Bk4458 S 4310M-DM-9*3 796, HARHEMDMERNK 4-6 5
% a7, wEswaER, gams ncaavz-so-12 [ G
(cv<ion) ; BEs s3iom-Dv-o-3 NG -

10%~30%) o

R 4-6 ZUAIS HCAAYZ-50-12 R B IMZEE R RS ok

) ‘ _ THT S
ALt ==X} Y& M, | IVEE
(CV%

SEZ kgCO2eq/km 2.39E+03 | 2.35E+03 | 2.15E+02 8.96

=R 4-7 BkXE S 4310M-DM

CCB_PCF_F_006CS hkZS 06 BIREMEHER 2023-11-09 Tik5 35 of 44



2. azgm ek

CCB_PCF_F_006CS hRZE= 06 BIREMEHER 2023-11-09 Tik5 36 of 44






R 4-9 BkLk 4310M-DM-9*3 BemtiEun @

4 A4
FRT C| M | Ter | Ger | Tir WE
P ER
e (1) V|V 2 2 | 2 6.05%
A1-A3-7= ' ALl-JEME
TR Lo
A psC e

CCB_PCF_F_006CS

hRZ&E= 06

BIREMEHER 2023-11-09

Tifg 38 of 44




REHRS: 64.500.24.01352.01

rsEsE— e

reemas. Aessesnens, JezsciiIIIE: s

CCB_PCF_F_006CS hRZS 06 BIREMHHEE 2023-11-09 D5 39 of 44



REHRS: 64.500.24.01352.01

1)

2)

3)

4)

5)

6)
7

8)

9)

SE 3R

ISO 14067:2018 Carbon footprint of products —Requirements and guidelines for
quantification and communication

ISO 14064-3:2019 Greenhouse gases —Part 3: Specification with guidance for
the verification and validation of greenhouse gas statements

ISO 14040:2006 Environmental management — Life cycle assessment —
Principles and Framework

ISO 14044:2006 Environmental management — Life cycle assessment —
Principles and guidelines

PAS 2050:2011 Specification for the assessment of the life cycle greenhouse
gas emissions of goods and services

GHG protocol Product Life Cycle Accounting and Reporting Standard

Zampori, L. and Pant, R., Suggestions for updating the Product Environmental
Footprint (PEF) method, EUR 29682 EN, Publications Office of the European
Union, Luxembourg, 2019, ISBN 978-92-76- 00654-1, doi:10.2760/424613,
JRC115959.

Product Environmental Footprint Category Rules Guidance, Version 6.3, May
2018.

EN 15804:2012+A2:2019 Sustainability of construction works — Environmental
product declarations — Core rules for the product category of construction products

CCB_PCF_F_006CS hRZE= 06 BIREMEHER 2023-11-09 DI85 40 of 44



REHRS: 64.500.24.01352.01

M A ERERIRBIHIERFETIR

= ~1 I

Al EIAREHER

B3 iEyIR REREIERR
Eiges (&) Brass {RoW}| brass production | Cut-off, U

Tetrafluoroethylene {RoW}| tetrafluoroethylene production |

E%2s (PTFE
Cut-off, U

Polyethylene, linear low density, granulate {RoW}|

- polyethylene production, linear low density, granulate | Cut-

off, U
Packaging film, low density polyethylene {RoW}| packaging

film production, low density polyethylene | Cut-

CCB_PCF_F_006CS FRZsS 06 BIREMHHEE 2023-11-09 TIf5 41 of 44



REHRS: 64.500.24.01352.01

CcC



REHRS: 64.500.24.01352.01

BrdiEdR

==k = NN =

Transport, freight, lorry 7.5-16 metric ton, EURO4 {RoW}|
transport, freight, lorry 7.5-16 metric ton, EURO4 | Cut-off,
U

Transport, freight, lorry 16-32 metric ton, EURO4 {RoW}|
transport, freight, lorry 16-32 metric ton, EURO4 | Cut-off, U

Transport, freight, lorry >32 metric ton, EURO4 {RoW}|
transport, freight, lorry >32 metric ton, EURO4 | Cut-off, U

A3 HliE
LT 1)
Ekeat Argon, liquid {RoW}| market for argon, liquid | Cut-off, U
RETRThZETIR
Electricity, low voltage {CN-ECGC}| market for electricity,
B8 77-EE Y
low voltage | Cut-off, U
Electricity, low voltage {CN-JS}| electricity production,
BB - R photovoltaic, 3kWp slanted-roof installation, multi-Si,
panel, mounted | Cut-off, U
e Diesel {RoW}| market for diesel | Cut-off, U
R Tap water {RoW}| market for tap water | Cut-off, U
K Waste water
Hazardous waste, for incineration {RoW}| treatment of
G hazardous waste, hazardous waste incineration | Cut-off,
U
Waste, electrical and electronic cables {RoW}| treatment
B4 of waste, electrical and electronic cables, open burning |

Cut-off, U

CCB_PCF_F_006CS

FRZsS 06 BIREMHHEE 2023-11-09 Tif5 43 of 44




REHRS: 64.500.24.01352.01

CCB_PCF_F_006CS RRZsS 06 BIREMHHEE 2023-11-09 TIfS 44 of 44



	dark_signature_error: 
	signature_error: 
		2024-03-29T16:24:01+0800
	中国
	文档加密保护




